ATE YR EACISY 2020509 % 23}7] 7o) A|7HE

« 27PAA 12A] : 8~91A] / 21A] 1 10~1114] M7 9. 1
111 A|(18:45 - 20:15) 21 A|(20:20-21:50)
2
ol
=
SEA A SEA A
zey | T | msd :_1': ace | zew | 0 | m=Y :_1: D43
*H LTEQN | S "
T o= | swsto1 oo S
(205%) 2ol | dH
2I
= = AH
Aed | ®B | Me
=21 T
= | V0102 | HBETE Me | o1m)
(3023%)
X<k oz | B X<k ATEYO | HB
TST | AAI8 L S| gElel | TSE | sws114 _ © | olxp=
(202%) OIZX|s | MEM (202=%) HetEER | MH
H|
.| sum sAmsts (mE | | exmm By EE A
3} 2053) BDC108 e e SECES 2053) BDC122 | 242 ¢ Mei | TES
Python
O X 1} Mo | Okt o xi 1} Nz
O - O TT - O T OL— - O
CVO104 | SYHIX AAIN12 | Xtelojxfa o|=Z
(2062) Shl MEd | (71X) | (6012) RO el |
o X3} HIGO|EAIY | A2 o X3} 7|x olz Mz
FRE | gpcror | OIS S ey | TEE g | 712 S S | arou
(2052) OjMz27|s | MEH (202%) e M EH
o xi 7} St o x4 .} Mz | o|lad
2 TS | aAn07 | AR | DO | dsE | TSC |cvotol | REREE | OO =
7| (B1013) S | ey | B3 (205%) = e | (7]%)
AT | o[ ZR3UY | BB |
(6013) 210 HE | (7]x)
9] ZolAIbEE APgoll oot el o] wAd & 9lg




